312raT/OR

I bl BEd 82 UM & WHY Dl Jooikd DIl

What is Meditation? Explain the nature of Meditation.
. ST UeReR R U ey forRau)
Write an essay on Emotion Management.
312raT/OR
e TeRE R ey ford |
Write an essay on Health Management.

. Tt a‘r R fooufy %I'@Q/Write short notes on any Two.

(i) o1& Y9 /Goal Management
(i) 99 Y949 /Time Management.

(iii) &I BT FTYTG / Nature of Meditation
* 0
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PAPER | - JAIN CULTURE AND VALUE OF LIFE - |

TIME : 3.00 HOURS

e (gl ufa e & S Qe It e & 3 TuE g

Note : Attempt any five questions. Each question carries equal marks.

9. 1. SN o & T THIGRI BT que il

Describe the main sects of Jain Religion.

ROLL NO. .....cccccuuunnnnnneee MM : 70

312raT/OR

A HEER P Siled g2 TR TPh1eT SIfer|
Throw light on the life and philosophy of Lord Mahaveer.

g, 2. faftr S el Tt W g siferuy

Throw light on various Jain Pilgrimages.
312raT/OR

S ARPRT Pl TS Y o TP i e fordd |

Explain Jain Culture and write the features of Jain Culture.

¥. 3. WaMeu™ & T S W UHIE STl |

Throw light on main component of Preksha Meditation.



U. 3. IPnRem o aRkfvd HIT @ ARt i smaedear HeGdT AR
Pl foaR A FHsMsY| / Define Motivation and explain Maslow's
Need Hierarchy theory in detail.

3Yar / OR
TN B iR iR TPRT B A |
Explain the process and types of Communication.
9. 4. T Pl URAIG DT & A7 Hr dferi o T
Define leadership and explain styles of Leadership.

@l / OR

aRTcH & s | 31T AT IS 3 ? fad uRacHl ar foRier gt
IR 872
What do you understand by Management of change? Why people

resist changes?

U. 5. 3R YIRS a7 dread ¢ | 59! fI99dt ud 7 bl FHSISY |
What do you mean by Delegation of Authority? Explain it's

characteristics and importance.
3Yar / OR
"IITeRYT ey va FeM’ W fég ool ferRau

Write short note on "Environment analysis and diagnosis".
* 0

(i)
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BACHELOR OF COMMERCE (SECOND YEAR)
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e (gl ufa e & S Qe It e & 3 TuE g

Note : Attempt any five questions. Each question carries equal marks.

¥, 1. RS 9 3T a1 FHe £ 7 T USUD Bl I8 WP BRI B P
fopet aMeMies FTeT # G Agw @ faemr Hifv|

What do you understand by Planning? Is it the primary task of the

Manager? Discuss its importance in a modern organisation.
3Yar / OR
S5l GRT Ue= Bt aRYTT HIfTy) 3ot fFawam, Seeg ud ufshan

H! THsATST |/ Define management by objective. Explain it's
characteristics, objective and process.

U. 2. Wod WRa & fIfiE Ueui i Aesy qeT Ui o 0T 99 QN
&1 faaT 6 STUI / Explain the various forms of organization
structure and state merits and demerits of each of them.

3l / OR
o @ aRYT Hifre T i wfhar &1 st

Define Decision making and Decision making process.

(i) $.9.3./PT.0.
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TIME : 3.00 HOURS ROLL NO. ...ccccevriiiiiiinnne MM : 70

frdar : fp=di uig weal & SR g | I vesl & 3w U= 2 |

Note : Attempt any five questions. Each question carries equal marks.

9. 1. yam fafics 7 1 fGFwR 2011 &1 FfoRed somsi o1 e fhar-
1) 100 %. gt 1000 6 U SO0 1 T 2018 H 5 Uierd SHRm R e &
2) 100 ®. g/l 3000 7 WfIerd Fods S 6, 2018 H 99 o R MeFR 8, TR ST 3
oAl o g9 R ¥ gd uReg e Y ] & 3 v vear et ff 7 oAt @ 2 ufiea
R R aMes R BT ISR R R @M gl g 2011 § ST 6l i &b Iwa
el ¥ wefUd maeass sHe ufafteat S|

Pratap Limited issued the following debentures on 1st December, 2011.

i) 1,000 6% debenture of Rs. 100 each repayable at a premium of 5% in the year 2018.

ii) 3,000 7% debenture of Rs. 100 each repayable at par in the year 2018. The company reserved
the right to redeem them earlier at any time after 3 years from the date of issue at a
premium of 2%. Give necessary journal entries in the books of the company in the year 2011

in relation to issue of above debentures.

@’ / OR

RUT U & 3T AT F9STd &7 k0T U g 379 H 3R TS hIfoTu|

What do you mean by Debentures? Differentiate between shares and debentures.

v, 2.afaq fafics & fFfHd gofit 10 . arer guf wiea 2,00,000 MR 379 5 21 oRkg I a¥ 31
oTd I gAY S 21 31 9/, 2021 B EfIRad 9 greret § O -

JMIERT (Surplus) 3,60,000 %.
T HATT T AT e 2100 .
T QI TR amie den @ 2,100 %.

20 SIS, 2021 1 FH= dq1f¥s AMT G491 § 31 914, 2021 B HAIAd! gRI T TRl Pl
SIATG g1l Fors AT 3791 R 12 TR e |fFHferd 81 1 SRR, 2021 T arie i
2 U § QT W@ielT 77 9 AT rftus PR ) ™ 31 5/, 2022 9% 2,38,600 . &

1 PT.O.



AT AT YT 2 TG g SR 1,200 . A 71 T AT & AT €1 aria
G P A PN A T AT G IR T T g 500 . T AW TR AT Pl SR
e} Heg H gdiaRd R TR Sad TagRl Pl oikdl BT g STeedes @i S8 | ST IR e
6 R 16.995 Hfed 91|

Shakti Ltd. has an issued capital of 2,00,000 equity shares of Rs. 10 each fully paid. The
accounts are prepared on 31 March each year. on 31 Marsh, 2021 the following balances

appeared in the books-

Surplus Rs. 3,60,000
Unclaimed Dividend Account Rs. 2,100
Unpaid Dividend Bank Account Rs. 2,100

In the Annual Meeting held on 20" July, 2021 the recommendations made on 31 March, 2021
by the directors for payments of 12% dividend was approved by the shareholders. A separate
bank account was opened for the payment of dividend on 1% August, 2021 and dividend warrants
were issued. Dividend warrants amounting to Rs. 2,38,600, were presented to the company’s
bankers up to 31°t March, 2022. Out of this Rs. 1,200 were in respect of old claims for dividend.
The balance outstanding in Dividend Account was transferred to Unclaimed Dividend Account at
the end of the year and unclaimed dividend of Rs. 500 was deposited to Consumers benefit fund.
Pass necessary journal entries in respect of the aboave transactions and give ledger accounts.
Assume tax rate on dividend @ 16.995%.

@’ / OR

Teh T b fiIg IR ReT 2T lvalel], X% JRIT 82 TpIedieh 3ieh ol 8¢ Uep UdAT foig) STIep” 31
IR Pl T IR

What is the vertical form of preparing the Balance Sheet of a company? lllustrate your answer by
giving such a Balance Sheet with imaginary figures.

Y. 3. SN GAFHI 1 82 Ig sl AT 3§ oy vpR i 22
What is Internal Reconstruction? How does it differ from external Reconstruction?

@’ / OR

foerr & Upfy & Thlaer Ud BTl UpRT B TR F R FHSEY|
Distinguish between ‘Amalgamation in the nature of merger’ and Amalgamation in the nature of
purchases.

¥. 4.3 iR v. fafics v &Y. fofies & 31 A, 2022 @f A9 = YR 2-

Following are the Balance Sheets of companies A Ltd. and B Ltd. as at 21 March 2022-



Particulars H Ltd. S. Ltd.
Rs. Rs.
I. EQUITY AND LIABILITIES - -
(1) Shareholders' Funds
(a) Share Capital
Authorised
Issued and Subscribed
Equity Shares of Rs. 10 each 10,00,000 4,00,000
(b) Reserves and Surplus
General Reserve 1,50,000 1,00,000
P.& L. A/c 2,00,000 50,000
(2) Non-Current Liabilities - -
(3) Current Liabilities
Trade Payables : Creditors 3,25,000 1,35,000
Total 16,75,000 6,85,000
1. Assets
(1) Non-Current Assets
(a) Fixed Assets
(i) Tangible Assets 8,00,000 5,00,000
(ii) Intangible Assets - -
(b) Non-CurrentInvestments
24,000 Shares in S Ltd. 3,36,000 -
(c) Other Non-Current Assets - -
(2) Current Assets 5,39,000 1,85,000
Total 16,75,000 6,85,000

. foafics 3 Y. fofies & 14 . 9fT 3191 5 R W 32,000 3797 77 o, 99 w9 i, ftfics
¥ F9T guH T 1,00,000 F. R 1 T, fAfCE 7 8,000 o1 16 %. it 3fer it R | 31
SR, 2021 1 99 U9 faepg W W P1 Yol A9 gV Yol Had @RI H ARG R 1T |
31 R BT Thipd gl TR HIRT |

A Ltd. Purchased 32,000 shares in B Ltd. at Rs. 14 per share when reserves of the later stood at
the present figure of Rs. 1,00,000. A Ltd. sold 8,000 shares of B Ltd. on 31st Dec., 2021 at Rs. 16
per share and profit on sale has been credited to capital reserve taking it as capiral profit.

Prepare the Consolidated Balance Sheet of the two companies.

@’ / OR

ATRT qeiehT Dl FarH g deie [ i i 27 39 IR | @iy & qeaieT ¥ g 87

Which is the best and scientific method of valuation of goodwill? How goodwill is valued by this
method?



. 5.1 #ff farfics &t FeforRad gamm & SR R Sfaact sier o1 gog snenf=a ya ) Ify grr
ST SIS

On the basis is the following information of Raj Shree Limited calculate value of its equity share
on the basis of expected rate of return method.
50,000 Equity shares of Rs. 100 each Rs. 80 paid up Rs. 40,00,000

10% preference share capital Rs. 20,00,000
Profit before Tax Rs. 65,38,461
Rate of Tax on profit 35%
Normal rate of Return 15%

Ignore Corporate Dividend Tax.

et / OR
YT & SR T quie BT ForT S e o fafte fafirn o1 Twemsu

Describe the concept of goodwill and explain the various methods of its valuation.
(224



Y. 3. dfSep QIR T W 3T AT 91 g7 s FTURIT JAT P
Ty o e denfies uraemt o1 aue Sl

What do you mean by Annual General Meeting? Discribe different
legal provisions regarding Annual General Meeting.

Jgar / OR
P FchEIh 3 AT T TH & ? I SIMIBR T SIRAl T qui ol

What do you mean by Company Auditor? Describe it's duties & rights.

U, 4. QRIUTGH U4 3ichaior § 7 3R 87
What is difference between Book-keepibng and Auditing?

@l / OR

P B T F T AT &2 P b FEI o fafer 7 fosdt
wep fafer @1 gue Hifsul

What do you mean by winding up of a company? Describe a mode
of winding up of a company.

Y. 5. fidfe FRie & g For \uerd 87 Jridie FrRisT g aridf e
T R Iargd|
What do you mean by Internal Check? Diffrenciate between Internal
Check and Internal Audit.

@l / OR

T ST 2013 6 URT 139 | aftfa et &1 FRIfET &
Ty ¥ I uraumi @1 avie S|

Describe the provisions of section 139 of Companies Act, 2013
relating to appoint of an auditor. * 0

(i)
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frder : 9ft yeAt & SR A gt ue & I wHH €

Note: Attempt all questions. Each question carries equal marks.

. 1. uNe Iiafag & 82 @y g siafum § 3R Wee |

What is an Articles of Association? Distingh between Memordum
and Article of Assocation.

@l / OR

T ATSTDh BT & THM o I Srawmat o1 guie Hif|

Describe the various stages for incorporation of a public company.

g. 2. IR F90 3T T T 2 2 PR 3i9m &b F==er 1 i

e bl guie &6 301/ What do you mean by 'Right Shares'?
Describe different provisions relating to Right Shares.  5+9=15

@l / OR

YfgaRo @1 22 wfdaxur @ gt fasa arflt a9z

Difine the term Prospectus? Explain the content of the Prospectus.

(i) $.9.3./PT.0.
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TIME : 3.00 HOURS ROLL NO. ...ccueeiiiiiiinennenennnnae MM : 70

e : @i uim ueT g IR It vel & TUH 3P 2

Note: Attempt any five questions. Each question carries equal marks.

¥. 1. gfar & FeEfaRed gaamel | ax FuRe a¥ 2020-2021 & o) 9 gl | o= IR T T
oY -
Find taxable income from all the three houses for the assessemnt year 2020-2021 from the
following information of Sunita-

Particular I House (Rs.) | Il House (Rs.) | 1l House (Rs.)
Standard Rent P.a. 48,000 60,000 72,000
Fair Rent P.a. 55,000 72,000 78,000
Municipal vale P.a. 60,000 66,000 96,000
Annual Rent 72,000 90,000 1,08,000
Municipal Taxes (for full year) 10% 10% 3.75%
Paid/unpaid by House owner Unpaid Paid Paid
Vacancy Period 3 Months 2 Months 1 Month
Unrealized Rent 2 Months 3 Months 6 Months
Loan to Construct House 8,00,000 10,00,000 1,00,000
Loan obtained on 1 Apr. 11 1Apr. 14 1 Apr. 12
House constructed on 1 Apr. 13 1June, 15 1Jan, 13
Rate of Interest 8% 10% 10%
FUar / OR

ST & T A g7 fAf TR & reHl B Anssy|

What is prequisite? Explain different kind of prequisities.

1 $.9.3. /PT.0.



9. 2.

faNTal

3. 7T T Geiigd fafehem € S 31 7™, 2020 @ FH g AN & o 7 sm-2 @
ST |

Dr. Gautam is a registered medical practitioner, he has prepared the following income and
expenditure account for the year ended 31 march, 2020.

Expenditure Rs. Income Rs.
Household Expenses 20,000 Consultation Fees 10,000
Car Purchased (1.4.2019) 30,000 Visiting Fees 20,000
Travelling Exp. (Personal) 4,000 Gain from Horse Race (Gross) 10,000
Donation 1,000 Sale an Ancestral House 34,000
Income Tax Penalty 3,000 Profit on Sale of Securities 6,000
Salaries 8,000 Dividend on Shares 5,000
Gift to Daughter 7,000 Gift from Father in Law 2,000
Establishment Exp. 1,000

Interest on Saving
Surgical Equipments

4,000 Bank Account of Post Office 600
(Purchased on 1.4.2019)
Books (Purchased on 1.4.2019) 12,000 Interest on F.D. 1300
Life Insurance Premium 2,000 Bad Debts Recovered 2000
Interest on Capital 1,000 (Not allowed in earlier years)
Surplus 8,700
90,900 90,900

X BR TAT IR T3 R wipd g Y & 15 Ufrerd g | o= FuRo a¥ 2020-2021 &
ford SAhY U & ey Fi AT i

Rate of depreciation on carand surgical equipment is 15%. Compute his income from profession
for the assessment year 2020-2021.

3regar / OR
Ioft o @ g2 Gt At b AT fohe TR ot STt €7

What do you mean by capital gains? How are capital gains computed?

ft Mg T REeR g S0 fafram i R 01.04.2020 &) f9=7 TR oft-

Mr. Mohan is an artist. On 1% April, 2020 the position of his investments was as under :-

(i) 7% % Government of India Loan 48,000

(ii) 9% Tax free debentures of B.M.S. Ltd. (listed) 80,000

$.93./P.T.O.



(iii) 12% debentures of G Ltd. 20,000

(iv) National saving certificate purchased on 18.08.2016 40,000
(v) 7% Government of Rajasthan Loan 50,000
(vi) 7% Capital Investment Bonds 20,000

P fRor 2021-2022 & o 3 A @ IR ofies Y S S B

Calculate income from other sources for the AY. 2021-2022.

@’ / OR

I aRfRAfR &1 vl R g axerar & 3 3 3 Afaaal h 3T B SeT S 2l

Explain the circumstances in which incomes of other persons are included in the total
income of assessee.

T forg sfaiia uRar w e Fufor 6 qof wfther awsme|

Explain the whole process of assessment of HUF.

@’ / OR

T T TR Y Aehed T T 3 quare] Fwenai rRar o A9y wil ot i T g9 | IR
wfipa wetfaat @ quH Hfor|

Explain provisions regarding deduction available to an individual for donations to charitable
insitutions and other specific funds.

AR BE A Y FIT AT 27 U AEER BF B aR AT A ST PR DB UiehaT AR |
FHST |

What do you mean by a partnership firm? Explain process of determining total income of a firm
in detail.

3Yar / OR
I ofifep & RIT SH T W TN Pl & o T Mae 87

What are the provisions regarding deduction of the Tax at the source under the head 'Salary'?
'



. 3. TRPR GRI ISRV H AT SFTTH A SArefies & o gu i
GuR ferRau|

Write down the Economic Development in Industrial Sector after

the implementation of Liberalization by the Government. 14
312raT/OR

TR RS 6 7 TRIaN 1 ¢ 2 S9! fIAvan, ag

T4 3TAeIDHT Dl AT |

What are the basic assumptions of Business Ethics? Explain it's
characteristics, need and importance. 3%x4=14

q. 4. =1 3itenfires vd @ fr-1991 F grr uRkact &t fademr Hifvm

Discuss the major changes of New Industrial and Licensing

Policy. 14
312raT/OR

=1 o= feoguft forRgu —/ Write note on following : 7+7=14
(i) 3Tenfiies ®OET / Industrial Sickness
(i) SFRICT IR & IRy N USRS T

Beneficial effects of foreign trade on development

. 5. ‘93 e 95 add Bl S 2dr ¢ 1 BUS & 3T @
gfRerur HIfTT T ATEaaTRies AR P Aed Dl FHSISY |

"Good ethics Promotes Good business". Examine the Rationality
of this statement and also explain the importance of Business

Ethics. 4+10=14
312raT/OR
faeg @R & vgiEl o RaR & w9 |
Explain the trends in World Trade In detail. 14
1 224

(i)
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TIME : 3.00 HOURS ROLL. NO. ...ccceviiriiinnnne MM : 70

e (gl ufa e & S Qe It e & 3 TuE g

Note : Attempt any five questions. Each question carries equal marks.

¥, 1. RIS IR B gRWRT ST va 96 gent @ foRar |
IS |
Explain Business Environment and explain it's components in
detail. 2+12=14

312raT/OR

TSR M T 37 wd aRTST SHfTg) eht MU B bt STt B2
Give meaning and defination of National Income. How it is
computed. 6+8=14

¥, 2. Tt B R HRTTI IR § T & Rer g W ) A
* U qARY |

Define Poverty. Give reasons of Poverty in India and explain steps
to eliminate Poverty. 2+12=14

311/ OR
URA § Ao~ 3T dUT T B Sl Pl guie Hifou|

Define the Public Revenue and Expenditure Sources in
India. 10+4=14

(i) $.9.3./PT.0.



311/ OR
3BT WIdT FT 82 TP b @I b Sfac g hfec & ¥ Ube 8 dlel]
fafrer g2t o1 darg I quiv HIfTUI Teh Preufien ISR AR AT IR

Pl Tqse HIFTTI / What is a contract account? Discuss in brief the
various items appearing on debit and credit sides of a contract

account. lllustrate your answer by taking an imaginary example.
frfaRea et | ama SHa § wfafsest Hifvm

From the following information, make entries in the cost journal.

Purchase Rs. 3,90,000
Carriage Inwards Rs. 5,850
Stores issued Rs. 3,58,800
Productive wages Rs. 3,46,320
Works oncost Rs, 3,48,400
Unproductive labour Rs. 1,21,680
Materials used in repairs Rs. 3,120
Cost of completed jobs Rs. 12,80,630
311/ OR

AT i@l a7 Tl ogiep & IRUMT § 3R b BRI Pl
e KT T Pleties FHIYT IR U5 GIR HIfTTI/ State

the reasons for disagreement between the costing and financial
results. Prepare an imaginary reconcilliation statement.
* 0
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TIME : 3.00 HOURS ROLL NO. ...ccovvvnnnnnnnnnnnnnns MM : 70
e Bl g el & SR g |t "ol & 3w wHE g
Note : Attempt any five questions. Each question carries equal marks.

T. 1. U hac! § AT B ThR D A UAD THIE =T PR I TN
ST %\:—/In a factory components A and B are used weekly as

follows:-

AT STHNT/ General usage 150 Units
STfrepdy SUHNT / Maximum usage 225 Units
A JUYNT / Minimum usage 75 Units
(T 32T HFT) Re-order Quantity

A - 1200 Units B - 1800 Units

(T IS 31af) Re-order Period

A -4 to 6 weeks B - 2 to 4 weeks
Calculate for each component

(i) g 3T TR/Re-order Level

(i) TIHIT Tl TR/Maximum Stock Level

(iii) ~gAdH IClh FR/Minimum Stock Level

(iv) 319 ¥ TR/ Average Stock Level
311/ OR

(i) $.9.3./PT.0.



fot oRal Td oImTg @al 9 3R Sd1sU|

Differentiate between financial accounting and cost accounting.

fr=forRae IR AIeT & Sl Ua Sifies Y S gaTey, IS
a8 R Pl 150 TP TSt P I W 120 el ¥ R/ IR odl §, SHh!
IRT HeTeR 2.50 . & 3R 30 9N Aoigd & Iifiad 10 . wffes
(8 G2 o1 T fo) &t R | 9@ 9aT firerar 21/ What earning will
a workman receive under the following incentive schemes if he
executes a piece of work in 120 hours as against 150 hours allowed
to him. His hourly rate is Rs. 2.50 and he gets a dearness allowance
of Rs. 10 per day of 8 hours worked in addition to his wages.

(a) Halsey premium plan 50% bonus to workers.

(b) Rowan premium plan and

(c) Emerson efficiency plan
311/ OR

SURST b NS0T F MY T FHSA & ? SURET b NN qT

STTHISH T 3R ga1gd| /What do you understand by "Absorption

of overhead"? Differenitate between absorption and apportionment
of overheads.

X (Ta) ¥, P T Bl ol SedTed IRl gl gUe w9 N Ul genrs
Fr 3R SH AT 797 YR 8- / X manufactures stools, chairs &
tables. The material & labour costs, per unit are separated as follows-

Stool Chair Table

Rs. Rs. Rs.
Material cost 60 920 300
wages 80 100 250
Production (Units) 900 150 150

(i)

Total factory overhead Rs. 33,000
AP TR fFe & B Hl PRGHET AN I T0ET FxAT 2l
BHREFT JIRSRT F §eT & o7y et Tg T ¢ 1 Tep 39T IR Fgal

F ISR ¢ qAT I FHRATT T B &b S=IR 81/ You are required to
determine the works cost of each type of funiture after assuming

that ontable is equivalent to four stools & two chairs are equivalent

to one table for the purpose of factory overhead allocation.
311/ OR

SIS AT eiaieh fafYr &t grer faowamd qar-aar g7 O SuskAl &

M Fared e form @ ffY e sifiep Swge 2

What are the main features of unit costing method? Name such

undertaking to which it is most suited.

U IS ‘37 TAUT ‘T’ AH I wiharel | orar §1 FEfaRed @
ufshar @ s9T=A- /A product passes through two processes. A
and B prepare process accounts from the following-

Process A Process B
10,000 units introduced at a cost of Rs. 20,000 -
Material Consumed Rs. 24,000 12,000
Direct Labour Rs. 28,000 16,000
Manufacturing Expenses Rs. 8,000 8,566
Normal wastage on input 5% 10%
Scrap value of normal

Wastage (Per 100 units) Rs. 40 50

Output in units 9,400 8,500

YA WehaT @I & 1Y IR & /sad @i, st oft R &,

g913U| / Also prepare abnormal wastage/effectives account as
the case may be, with each process account.

(iii) $.9.3./PT.0.



